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(1) Consider 4 & kb ROM wik, & output bits . Zf Hw memaory matrix has (28
a0y rews . how mang bits are neaded for (4> f X address 2 (6> i N address )

(c) ﬁﬁﬂmd‘ (a) and (6) ascum c? Hhat Shere qre. &4 rews /w Hi encoder
“  How nang wards does -#is Ron hane and

hew mang bifr are needaed v
decCode #ese werds ? '

(z) Two (6 Kb (2048 x 8 ) RoMS are available . Show how fo Connect hese so
As fo Obtain (a) & 32 Kb (2048 x16) Royg and (6> a 22 kb (4098 %8 ) RomM

- R, R’

In the /4{-5;4& 7[7«/'4, y ﬁ"an rdeak OpP-AMmp ,
v, -Verify that <L Aguals Us /R, (f Rs/%o, efuals RZ?,

For #a. multiloop cCireuit sheon rnthe left-side Figure

”

f A Aa As ° transfer functon Ag(s),

=. R For Yh— instrumantat,pn amplt'f,'er Shewn
‘ - R)— QR; _
/{/ Ra R R Ra (ar V‘erzfy thakt |/, = (/-/-._R_l.,. = )( Va-t})
- Vo (b) defarmine. +he CMRR
i Va *

af. (1) An ’OP-/M’I/) has a Slew rote of SV V/,us s (a2 What 15 H marx!mem

e frzf“emy of an owlpul Sinusoid of Sy Peak Valie befire Slew-rate
| distovtion exists I () 7\’7:@1“ (A for a /5V s/f'nd

(2) ﬂvf\}"' For fha gyr\u{m’ Showon 1q Hhr /ef{-,r)o(z f}";urel
f’——)——-jIA: >_J SAN‘U That V.«‘AI‘; rs ind“c'fl}/h&—, Assume jdeal
Vi j c OpP-Amps .
- )
R R
=/ Draw Yu block d/'dfmrn and explcin fha operating for (ay) A flash A/D
164 Converder  (6) a oluakl Slgpe A/p converder .

Firp fha Clrewit Show m tho- left figure .
Vo prove that Vo g = - %RCS)"

G An amplifier must Aissipatke /S (W of mlernad Power  The ambient
'/em/oeru(-urz, 5 74 = 30°C. ..lf Al maximun allowal:/c/unch'n«. v‘eny.?em:ﬁvre
s 7'}"-(0'4«) = /80°C ama f EFc = 2°C s what (s the maximum. heat- Sinlk
thermel resistance 8sq ( Sink-+o- ambient, ) that can be Fo lerated 2.

£ let Al = A /t147,5), A= A/(142ys) ard A3z A3,0, 759
X ——@x Frofuofs am roat constants . Obhain, e,
3]
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